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Answers 

5a.   2.5 or 2 1/2     

One mark awarded for a correct answer. 

Suggested method: 

This is a straightforward graph question which should prove to be an easy mark to gain.  

The important part of this question is to look carefully at the scale showing the mass of the pumpkin in kilos. 
Every other line is marked in kilos, so every other line must be a half kilo. 

Joe’s pumpkin has a mass of 4.5 kg. Holly’s has a mass of 2 kg. The difference is 4.5 kg – 2 kg = 2.5 kg. 

Note the use of mass rather than weight in this question. Children should be very familiar with this. 

 

5b. 5 kg 

One mark awarded for a correct answer. 

Suggested method: 

This is a rounding question. The first thing to do is to look at the mass of Dev’s pumpkin. It is between 4.5 kg 
and 5 kg. As it is more than 4.5 kilos the mass should be rounded up to 5 kg (to the nearest whole kilogram). 
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